
Lösung Temperaturabhängige Widerstände NGÜ 

1.  

α = 0,004 ΔR =  R20 ∗  α ∗  Δt 

R20 = 100 Ω ΔR =  12 Ω 

R50 = 112 Ω R50 = R20 + ΔR Δt = t1 – t2 

Prozent = 12 % R50 = 112 Ω  Δt = 30°C 

 

 100 Ω  100 % 

 12 Ω x % 

 x =
100∗112

100
 x = 12 % 

Um 12 % erhöht. 

2.  

α = 0,004 R20 =
U20

I20
 ΔR = Rt – R20 

U20 = 24 V R20 = 120 Ω ΔR = 40 Ω 

I20 = 0,2 A Rt =
U20

It
 ΔR =  R20 ∗  α ∗  Δt 

It = 0,15 A Rt = 160 Ω Δt = 83,33°C 

t = 103,33°C t = t20 + Δt 

 t = 103,33°C 

3. 

α = 0,004 ΔR = Rvoll – R15 t = Δt + t15 

R15 = 3,8 Ω ΔR = 0,8 Ω t = 67,63°C 

Rvoll = 4,6 Ω ΔR =  R20 ∗  α ∗  Δt 

t = 67,63°C Δt = 52,63°C 

4. 

α = 0,00015 I20 =
U

R20
 ΔR =  R20 ∗  α ∗  Δt 

R20 = 42 Ω I20 = 5,48 A ΔR = 1,134 Ω 

U = 230 V R200 = R20 + ΔR I200 =
U

R200
 

I20 = 5,48 A R200 = 43,134 Ω I200 = 5,33 A 

I200 = 5,33 A  

 



Lösung Temperaturabhängige Widerstände NGÜ 

 

5.  

α = 0,00385 ΔR =  R0 ∗  α ∗  Δt 

R0 = 100 Ω Rt = R0 + ΔR 

t -10°C 0°C 10°C 20°C 30°C 40°C 

R 96,15 Ω 100 Ω 103,85 Ω 107,7 Ω 111,55 Ω 115,4 Ω 

 

6. 

α = 0,004 A =  
𝑑2∗ 𝜋

4
 Rt =  

U

I
 

d = 0,2 mm A = 0,03 mm² Rt = 33,33 Ω 

l = 12 * 400 cm = 48 m R20 =  
l

γ∗A
 ΔR = Rt – R20 

U = 5V R20 = 28,57 Ω ΔR = 4,76 Ω 

γ = 56 ΔR =  R20 ∗  α ∗  Δt 

I =150 mA = 0,15 A Δt =  
𝛥𝑅

𝑅20∗𝛼
 

t = 61,65°C Δt = 41,65°C t = 61,65°C 


